
INSTALLATION GUIDE

TCP COLVF-14
1”-Offset Shock Tower Adapter

Description: Adapter plate mounts to factory shock tower to allow bolt-on use of stem-style upper mount of TCP 
Bolt-In Coil-Over or ShockWave™ front suspension. Includes 1”-offset shock tower adapter plate, backup plate, and 
mounting hardware.

Applications: Comet ‘60-67 and ‘71-77, Cougar ‘67-73, Cyclone ‘64-71, Fairlane ‘66-71, Falcon ‘60-70, Maverick 
‘70-77, Montego ‘68-71, Mustang ‘64-73, Ranchero ‘60-71, Torino ‘68-71



2



PARTS LIST
Qty Part Number Description
2 7909-032 Shock Tower Backup Plate
2 7909-059 Shock Tower Adapter, 1” Offset

7918-063 Hardware Bag
Qty Part Number Description
6 3101-038-16C Locknut 3/8-16 Nylon Insert Clear Zinc
6 3104-038C1.75C Button Head 3/8-16 x 1-3/4” Cap Screw Clear Zinc
2 3109-063-S-2-Y Aircraft Washer 5/8”, Small OD

12 3120-038S-Y Washer 3/8” Hardened Flat SAE Yellow Zinc
1 7909-051 Spot-Weld Removal Drill Bit 3/8”

 INSTRUCTIONS
Removal of factory shocks, springs, and upper shock mount should be complete before proceeding. Specifi c instructions 
are provided in the installation guide packaged with your VariShock coil-over (VAS 16XMS-425) or ShockWave air 
suspension (VAS 13XMS-350).

Do not install springs onto coil-over shocks or infl ate air spring until after suspension has been checked for adequate 
travel clearance.
  
Chassis Inspection
With factory components out of the way, this is a good time to inspect sheet metal for signs of fatigue. Clean the area to 
remove any grease or dirt so metal and welds are clearly visible. Look for cracks along welds or tearing of mounts in any 
way. If there is any damage present, repairs will have to be made before proceeding.

 Installation

1. Remove OEM coil spring isolator; positioned on upper spring seat of shock tower.

Step 2 and Figure 3-1 describe removing the upper spring seat and 
apply only to vehicles with carriage bolts at the upper shock mounts. 
(Includes ‘67-73 Mustang, ‘66-71 Fairlanes, and others.) Hex-bolt 
equipped vehicles (‘65-66 Mustang and others) have upper spring 
seats that seat fl at against the bottom-side of the shock tower. They do 
not require removal and may skip to Step 3 of these instructions.

2. Using the supplied bit, drill out the three spot welds securing the upper 
spring seat to the shock tower (Figure 3-1). Once you have drilled 
through the spring seat material, use a pry bar to break the remaining bit 
of material. Any remaining material must be ground fl ush and painted.

3. Position the tower adapter on top of the shock tower (large radiused 
edge closest to engine) and the backup plate underneath to sandwich 
the factory sheet metal. Use the three button-head bolts, fl at washers, 
and locknuts supplied to secure the mount and backup plate. Refer to 
page 2 for illustration.

Note: Fairlane shock towers use a slightly different bolt pattern and must be drilled to match the adapter and backup 
plates. Structural integrity is maintained through use of the backup plate.

4. Insert the stem of the shock pivot stud into the tower adapter mount hole from underneath.

3

Figure 3-1

Figure 3-1 applies only to vehicles using carraige 
bolts to secure the factory upper shock mount.



Total Control Products
A Chris Alston’s Chassisworks, Inc. Brand
8661 Younger Creek Drive
Sacramento, CA 95828
Phone: 916-388-0288
Technical Support: tcptech@cachassisworks.com

7903-COLVF-14 REV 01/22/13

  WARRANTY NOTICE:
There are NO WARRANTIES, either expressed or implied.  Neither the seller nor manufacturer will be liable for any loss, damage 
or injury, direct or indirect, arising from the use or inability to determine the appropriate use of any products.  Before any attempt 
at installation, all drawings and/or instruction sheets should be completely reviewed to determine the suitability of the product for 
its intended use.  In this connection, the user assumes all responsibility and risk.  We reserve the right to change specifi cation 
without notice.  Further, Chris Alston’s Chassisworks, Inc., makes NO GUARANTEE in reference to any specifi c class legality of any 
component.  ALL PRODUCTS ARE INTENDED FOR RACING AND OFF-ROAD USE AND MAY NOT BE LEGALLY USED ON THE 
HIGHWAY.  The products offered for sale are true race-car components and, in all cases, require some fabrication skill.  NO PRODUCT 
OR SERVICE IS DESIGNED OR INTENDED TO PREVENT INJURY OR DEATH.

4

5. Place the thicker stem washer over the shock pivot stud, followed by the 5/8”-OD aircraft washer, and fi nally the 
5/8-18 half locknut supplied with your VariShock coil-over.

6. Tighten the stem hardware, holding the locknut with a 15/16” open-end wrench and turning the pivot stud counter-
clockwise with a 7/16” deep-well socket. Torque to 45-50 lb/ft.

7. The zerk fi tting can now be installed to grease the pivot-stud. If installing optional shock tower adapter cap (TCP 
COLVF-12), remove zerk fi tting after pivot stud has been greased.


